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EF309/EL309 ROI NO. 2 vevvneenreneinsenaenns

fruffa wwa . f= a2 (Fftraam 3% : 70
Time allowed : Three Hours) [Maximum Marks : 70
Fe. () ¥Em W HAG 8, 9 F & 5 IR F I §iAd /
Note : Question No. | is compulsory, answer any FOUR questions from the remaining.
(i) TR% X5 & G 9T F1 FHER OF 1Y FT Hiad |
— Solve all parts of a question consecutively together.
5 (iii) NI T F1 73 98 & I FHrd
z Start each question on fresh page.
£ (iv) ¥ TSI B 3 &7 &1 R 7 3 sEar f aa
é Only English version is valid in case of difference in both the languages.
% . (1) HDLC ___ w&fgm=mz)
S (a) ER THA vad dfehe (b) ¥ giEE AT Afhe
3 (¢) Tumazafimagm  (4) wrdoae fefee o g
2 HDLC is an acronym for .
g (a) Host double level circuit (b) High duplex line circuit
(c) High level data link control (d) High level digital link control
(2) Fr= 3 2 frg Teas diretsh § it ) srewsa A 2 2
(a) ®WR (b) H=
(c) & (d) for
Which of the following network topology requires a terminator ?
(a) Star (b) Mesh
(c) Bus (d) Ring
(3) WhuwzIz ARQF eI w _ Tad # e gt |
(a) 6 (b) 4
() 2 (d) FHEBETE
For stop and wait ARQ, for 6 data packets sent, acknowledgements are
needed.
(a) 6 (by 4
(c) 2 (d) None of these
(10f8) P.T.O.
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(4) ' IR A PR HITYE F 39 &Y § ufafda = 3 § Frawt 2efiem @wa w
Sfya fomar s A%
(a) <EATEE (b) wTEH
(c) fa= (d) TR

(5)

(6)

(7)

(8)

9)

Device that converts computer output into a form which can be transmitted over
a telephone line is

(a) telephone (b) modem

(¢) switch (d) multiplexer

ISDN 3 g=1 T@4 areft 9@ &1 THT IR |
(a) D <e@ (b) e ITH

(¢) B3FeH (d) aTga =S=eE
Information bearing channels in ISDN are called as

(a) D channels (b) Data channels

(¢) B channels (d) Voice channels

T T SIS | WIS HI ARG kcanieic I i

(a) fTeft (b) TRHA

(c) fre=dt (d) ¥ ° HE T

The divisor in a cyclic code is normally called the

(a) degree (b) generator

(¢) redundancy (d) None of these
@R ALOHA 1 U2 |94, % 390 859 F1 BAR
(a) ¥HH (FT) (b) T

(c) @RI (d) WRIH

In slotted ALOHA, the vulnerable time 1s the frame transmission time.
(a) the same as (b) two times

(c) three times (d) four times
fRidsR s s CSMAFI TSR AR 2 7

(a) 1-ufdee= (b) FA-ufdge=

() m-uige= (d) p-ufEge=
Which of the following is not a type of CSMA ?

(a) | - persistent (b) Non persistent
(¢) m - persistent (d) p - persistent

HIE au1 HI-FE F TE7 T T - GEA R
(a) TR T HY g (b) FgEaHTer T Rt
(c) Toawrtor wd fameas (d) Freafs E P gl

Data transmission between the computer and the keyboard is usually
(a) parallel & half duplex (b) asynchronous & simplex
(¢) synchronous & simplex (d) virtual & full duplex
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(10)

(11)

(12)

(13)

(14)

__ FEd,  Faa & ge d afus srgfa wm s sda wl A mawdt 2
(a) aHEia, wE- AR (b) T, gt 78 TG
(¢) T &I, em-HTRE (d) 7 g A, wafg

cable can carry signals of higher frequency ranges than cable.
(a) Coaxial, Fiber-optic (b) Coaxial, Twisted pair
(c¢) Twisted pair, fiber-optic (d) Twisted pair, Coaxial

M 81 ARQ 73 %3t T8 §U W& TH U HI & ag v e R 2
(a) TM-aF-N ARQ (b) W Td I ARQ
(c) Weifda fdiz ARQ (d) IIRE |t

Which ARQ mechanism deals with retransmission of only damaged or lost
frames ?

(a) Go-back-N ARQ (b) Stop and Wait ARQ
(c) Selective Repeat ARQ (d) All of the above

=
fafim aret ) 39w § e areht whwan w5 wra 2 3
(a) IR (b) IR éﬁ
(c) T+ (d) g=TAZaEfE P
The process of interconnecting different networks is called §_
(a) Internet (b) Internetwork a
(¢) Network (d) Internetworking g
FHE P A S JeTh WA HIAET R 7 &
(a) U vd dwfous uwil &1 waa & | §

(b) "W gy H R g I FEUt F =T FE

(c) ST HaYl i ST 1Ya T |

(d) fore wrrfua s@T v qam & |

Which one of the following is not the function of network layer ?

(a) Selecting primary and alternate routes.

(b) Selecting network connections by addressing intermediate nodes.
(c) Resetting of network connections.

(d) Establishing and releasing the link.

e % @ = ot o Jeafdn gfe T 2 ¢

(a) Fedix (b)y =

(c) fa=t @ fr=
Which of the following is not a networking device ?
(a) Repeater (b) Switch

(c) Window (d) Bnrnidge

P.T.O.
https://www.bteronline.com



WO UI[UOING MMM //:sdy

EF309/EL309

(15)

(16)

(17)

(18)

(19)
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CSMA/CD & faufmda s arFur ad 38 2 7

(a) 3R 3901 % SN T B 2 A 97 U wikm S g A s R |

(b) 3T HTEN S & dl 4% AN GAdT & Fa 7 foh S |refl 3 8 M |

() TR FIEAAI RN FB oA & eI iE gd € |

(d) e faga S & wamw rafy % ERm RTem =Y B R

For CSMA/CD which of the following statement is incorrect ?

(a) If collision is detected during transmission then it transmits a brief
jamming signal.

(b) If the medium is busy then it continue to listen until the channel is idle.

(c) After collision all stations cease transmission for some time.

(d) The medium remains unusable for duration of transmission of both
damaged frames.

feafem # w1 wd e % Aea v qufda ani warfya fem s 2
(a) @fde (b) wHTeaTAs TiTY Fehe
(c) ®ew (d) Zremm ¥He
In ~ switching, a dedicated path is established between source and
destination.
(a) circuit (b) virtual circuit packet
(¢) message (d) datagram packet
Ao P e US AR arell Tadl $1 3T ®9 8 Ukl 3TH aTR WS I
TN 3121 38 T & fohan e B
(a) fuoft afen (b) TS JHEH
(c) hIG UgEal A (d) IHIE T A FE TE
The technique of temporarily delaying outgoing acknowledgements so that they
can be hooked onto the next outgoing data frame 1s called
(a) Piggy backing (b) Fletcher’s Cheek-sum
(¢) Cyclic redundancy check  (d) None of the above
X-25 arek § OS] wiget i fopat ard Fax i € 7
(a @ (b)
(¢) 9R (d) 9
How many OSI model layers are covered in the X.25 standard ?
(a) two (b) three
(¢) four (d) six
IP ¥ RN AT AR AATRRA R FEA@R |
(a) IGMP (by ICMP
(c) ARP (d) IHIE H H FIE TE
The protocol is used to report a problem in the I[P packet is called
(a) IGMP (b)y ICMP
(c) ARP (d} None of the above
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(20) TR T T ITANTHAT g gE FE A HTEed WH F F forg swam & fern s
ETIR
(ay HTTP () TELNET
(c) UTP (d) FTP
A user can get files from another computer on the internet by using
(a) HTTP (b) TELNET
(c) UTP (d) FTP

(21

(22)

(23)

(24)

e A Fm e AR 7

(a) T Gffeaa w1 fF aae weataa o &1 & o F agm T R |
(b) aﬂgﬁﬁ?ﬁmﬁmﬁzmﬁﬂﬁméﬁmﬁm%ﬂl
(c) ﬂgﬁﬁaﬂm%mméﬁﬁﬁ%aﬁﬁnaﬂtt
(d) a7 gffFa s f g fed 2+ srafa 78 7m

What is the goal of congestion control ?

(a) making sure that subnet is not able to carry offered traffic.

(b) making sure that subnet will allow more than the offered traffic.
(c) making sure that subnet is able to carry the offered traffic.

(d) making sure that subnet will not allow any traffic.

U HIHT W13 AT &1 T IR |
(a) o wERO (b) ¥FEA WHRY (¥EIA)
(c) Uehel TERU (dnfeaon) (d) &

A normal flooding technique is an example of

(a) Telecasting (b) Multicasting

(¢) Unicasting (d) Broadcasting

TR E A M T ARR A T N AR SR M i e &
g ¥ %1 R e 30 I |

(a) I (b) w

(c) & (d) wHARE T

Byte stuffing means adding a special byte to the data section of the frame when
there is a character with the same pattern as the

(a) trailer (b) flag

(¢) header (d) None of these

ARQ #1314 8 .

(a) WTEET FOY A (b) T QAT Y

(c) TEaIferd SITEIVA AR (d)  TIferd S SR
ARQ stands for

(a) Acknowledgement repeat request

(b) Automatic retransmission request

(c) Automatic repeat quantization

(d) Automatic repeat request

P.T.O.
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(25) GAN = simfees S R |
(a) ofvaw (b) TEETE
(c) <M (d) T & I8 TE
Geographic coverage of a GAN is
(a) global (b) metropolitan
(¢) countrywide (d) None of these
(26) [Pv4 ©gH g1 R

(27)

(28)

(29)

(30)

(a) 8 fae (b) 16T (c) 32fe@¢ (d) e64afee
IPv4 address is of

(a) 8 bit (b) 16 bit (c) 32bit  (d) 64bit
we fefteet a1 fag T 100 kbps 2 | 38 fae st orgsh1aesog & |
(@ 10 (b) 20 (c) 100 (d) 50

A digital signal has a bit rate of 100 Kbps. Its bit interval will be
microseconds.

(a) 10 (b) 20 (c) 100 (d) 50

-0 | WA gRI 3vSH $ I 2 |

(a) TA=RYH (b) UATHIA

(c) ®MA (d) AR

E-mail service is handled by layer.

(a) presentation (b) application

(c) session (d) transport

wmdfen =2 vl Hgre Merere 8 e yH B W dfqa i e wmsa R
(a) &g T (b) EF[AI & AT

(c) W B WM (d) FE T

In sliding window flow control protocol, the receiver window size when
frames are received.

(a) increases in (b) doubles in

(c) decreases in (d) remains its original

v uta yfewdi 1 7w et § sgafeya fean I | g g 3 e /
HTITYE 9IeH I T &t |

(a) HER (by oM

(c) 9= (d) B:

When five devices are arranged in a mesh topology then each device needs
input / output ports.

{a) four (b) three

(¢) five (d) six 1x30
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2. (i) g TEn & fEE Q sraveaat % am gay |
State any two needs of computer communication.
(i) I3.wA. €. &1 gl wy ferftad |
Write full form of ISDN.
(iii) Tl &1 ifeam w&m aediei @ fafgd |
Write names of any two medium access techniques.
(iv) FP Taad § Ao § TS 51 aTd & 2
What do you mean by congestion in computer networks ?
(v) X258 amusmanydd ?

What do you understand by X.25 ? 2x5§

3. (i) IIEY (TAE) awn g (fasfies) g suo +t awsmsd |
Explain analog and digital data transmission.
(ii) FFY TN G FHH HH G H13 21 MTLT TTeqTi %7 quix F1 |

Describe any two guided media used for computer communication. 5x2

4. () TALTE. (LAN), W.C@. (MAN) 791 8=, 0.04. (WAN) & gorm1 i |
Give a comparison among LAN, MAN and WAN,
(i) fafra feafan el =) Sée aaems |

Explain various switching techniques in brief. §x2

5. (i) wodfen fag v i aweny |
Explain sliding window protocol.
(i) CSMA W CSMA/CD afta! #! a99ms |

Explain CSMA and CSMA/CD techniques. §x2

P.T.O.
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6.

(1)

(i)

()

(ii)

()

(1)

FI Faad ¥ wrt i ¥ W% 918 SEURn $) e |
Explain flooding concept used for routing in computer networks.

frrafafga ava srawsl H s mrsit :

(a) ®®

(b) f&=

Explain the working of following network elements :

(a) HUB

(b) Switch §x2
HIY Azaad | wFer Tamor % forg sgen ofieht wahe e &t wweTed |

Explain leaky bucket technique used for congestion control in computer networks.

A /amd R afea # vfem THER W@ wE AE.TH.AL - LRI,
gefifa afsa @ g1 AR |

Explain T.C.P./I.P. model with an illustration. Also compare it with 1.5.0. —
O.S.1. associated model. https://www.bteronline.com §$x2

T W@ Fge | 7= IgTe wigd q9ee |

Explain difference between ‘Internet’ and ‘Intranet’ with examples.

‘T fregdt e’ | } 7 TR |

What is ‘Cyclic Redundancy Check 7" Explain. 5x2

frafafea 3 @ ferdll @ w afém feoaforat forfe -

Write short notes on any two of the following :

(i)

(i)

» I LR G TS

Frame Retransmission Techniques
LERARG R

HDLC

(iii) wAiEH

Modem §x2
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